Name: Date:

Complete the calculations:

67,544 = 60,000 + 7,000 + 500 + +
= 10,000 + 1,000 + 200 + 60 + 5

67,041 = 60,000 + + +40+1
80,000 + 3,000 +300+40+7 =

99,657 = +9,000 + . R

60,000 + 9,000 + 100 + 10 + 3 =
+ 5,000 + 700 + +2=45782

= 70,000 + 8,000 + 800 +40 + 4
48,125 = + + + +5
= 90,000 + 9,000 +100+0 + 7
800,000 + + 7,000 + 700 + +9=2847,789

336,487 = + + + + +7
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Name: Date:

Answers:

67,544 = 60,000 + 7,000 + 500 + 40 + 4
11,265 = 10,000 + 1,000 + 200 + 60 + 5

67,041 = 60,000 + 7,000 + 0 + 40 + 1
80,000 + 3,000 + 300 + 40 + 7 = 83,347

99,657 = 90,000 + 9,000 + 600 + 50 + 7

60,000 + 9,000 + 100 + 10 + 3 = 69,113
40,000 + 5,000 + 700 + 80 + 2 = 45,782

78,844 = 70,000 + 8,000 + 800 + 40 + 4

48,125 = 40,000 + 8,000 + 100+ 20 + 5

99,107 = 90,000 + 9,000 + 100+ 0 + 7

800,000 + 40,000 + 7,000 + 700 + 80 + 9 = 847,789

336,487 + 300,000 + 30,000 + 6,000 + 400 + 80 + 7
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